3Z8BA - IGLAN
I

A5 ShEF 28(g)
PJ-000600 M6xP1.0 =l
PJ-000645 M6xP1.0 45°
. PJ-000690 M6xP1.0 90°
TH {(c = PJ-000800 M8XPL.0 B
T &g =k PJ-000845 M8XP1.0 45°
_f _} L} PJ-010890 M8XP1.0 90°
90 45 EO° PJ-010100 PT1/8 =1
PJ-010145 PT1/8 45°
PJ-010190 PT1/8 90°
BRALFF X
#
Y .
LA
v -ng'/;o‘t/ B | #asR N | BE | BR | KE | B mE
P F120 | F@M&NC | 10W | 220V | 1.5A |120mm| M10x1| -20-90°C
A / F140 | T@HFFFNO | 10W | 220V | 1.5A |140mm| M10x1| -20-90°C
LN
% ¥§>
HmEDR
L Model FRIE W(mm) L(mm) pad
i 5 __ MF-15 15kgf/cm?
= MF40 | 40kgf/cm? ) 38 F=
MFB-40 40kgf/cm?
i m MFB-60 | 60kgf/cm> 47 45 @t
] “PT1/8” | MFB-100 | 100kgf/cm?
ey Gl W(mm) L(mm) &2E
L M-15 15kgf/cm?
L E M-40 40kgf/cm? 40 38 F&
MB-40 40kgf/cm?
MB-60 | 60kgf/cm? 47 60 =i
MB-100 | 100kgf/cm?
| MB-250 | 250kgf/cm?
| | Fetil MB-400 | 400kgf/cm? 58 75 gEgiiiba
MB-600 600kgf/cm?

P EcaE

3Z8BA - IGLAN

AR5y ECes

S 04(M8x1.0)
$6(M10x1.0)

A61ATEmm

_18.8

AES Bcas

: :_ | D z"'\-.-/r ” —I.r";.:n_ﬂJ
el )
A 1 1
K’ 20
o B : -
A AH

LGy T/T1 HEOO® | HAO#EK A B EE(g)

A4l o4 2-04

A42 6 2-¢p4 4 48 34-36 59

A43 6 2-96

A51 o4 304

A52 6 3-p4 5 64 49-52 76

A53 6 3-06

A61 4 44

A62 6 4-p4 6 80 60-68 9%

AB3 6 4-96

AT1 4 504

AT2 6 5-¢p4 7 9% 79-84 113

AT3 6 5-96

A81 4 6-04

A82 6 6-¢p4 8 112 | 95-10 135

A83 6 6-06

A91 4 7-4

A92 6 7-04 9 128 | 109-116 | 145

A93 6 7-06

A101 4 894

A102 6 8-94 10 144 | 123-132 | 164

A103 6 8-96 .

A121 4 10-94

A122 6 10-94 12 176 | 153-164 | 701

A123 6 10-96
MR | WoEO | NEDE | WH0E | A | B | BE(G4) | HE(G6)
Model |Outlet quantity | Intlet caliber | Otlet caliber | (mm) | (mm) | Weight(d4) | Weight(¢6)
AE-4 5 48 | 35 73g 71g
AE-6 7 TR RRDE 65 | 51 | 103g 101g
AE-8 9 o4 o 83 | 70 128g 124g
AE-10 11 97 | 83 | 151g 148g
AE-12 13 112 | 99 179g 171g
TTE RS

AE-8-6-4-S
|8 | zeox FJ
4| NEORE 04 S | FEEX |

6 | AR 6

4 |weoEes |




